

**SOLUTIONS OF THE SPACE-TIME FRACTIONAL OF SOME
NONLINEAR SYSTEMS OF PARTIAL DIFFERENTIAL
EQUATIONS USING MODIFIED KUDRYASHOV METHOD**

A.R. Shehata^{1 §}, E.M. Kamal², H.A. Kareem³

^{1,2}Mathematics Department

Faculty of Science

Minia University

El-Minia, EGYPT

²Ministry of Education

IRAQ

Abstract: In this work, we handle the space-time fractional of classical Drinfeld's Sokolov-Wilson system, the fractional (2+1)-dimensional Davey-Stewartson system and the fractional generalized Hirota- Satsuma coupled KdV system to solve analytically. Firstly, we use fractional traveling wave transformations to convert fractional nonlinear partial differential equations to nonlinear ordinary differential equations. Next, the modified Kudryashov method is applied to find exact solutions of these nonlinear systems.

Key Words: space-time fractional of classical Drinfeld's Sokolov-Wilson system, space-time fractional (2+1)-dimensional Davey-Stewartson system and the space-time fractional generalized Hirota- Satsuma coupled KdV system, modified Kudryashov method

1. Introduction

The fractional derivatives construct a basis to describe the features of systems

Received: October 1, 2014

© 2015 Academic Publications, Ltd.
url: www.acadpubl.eu

[§]Correspondence author

of mathematical modeling and simulation of systems that leads to nonlinear fractional differential equations (FDEs) and to solve such equations [Podlubny (1999)].

In recent years, numerous effective methods for solving these system have been found in the most useful works on nonlinear FDEs. For example the subequation method [2,5,6,14], the exp-function method [16], the first integral method [11,15], the complex transform method [12] and so on. The common of these methods is based on the homogenous balance principle.

In this study, firstly we will describe the modified Kudryashov [10] and applied in many studies to construct the exact analytical solutions of nonlinear differential equations. This method is also based on the homogenous balance principle. Therefore, it can be applied to solve the fractional order nonlinear equations. Then, we will apply the proposed method to the space-time fractional of classical Drinfeld's Sokolov-Wilson system, the fractional (2+1)-dimensional Davey-Stewartson system and the fractional generalized Hirota- Satsuma coupled KdV system by the help of Jumarie's modified Riemann-Liouville derivative.

2. Preliminaries and the Modified Kudryashov Method

Jumarie's modified Riemann-Liouville derivative is defined as [7,8]:

(1)

$$\text{Where } D_x^\alpha f(x) := \lim_{h \rightarrow 0} h^{-\alpha} \sum_{k=0}^{\infty} (-1)^k f[x + (\alpha - k)h]. \quad (2)$$

In addition, some properties for the proposed modified Riemann-Liouville derivative are given in [7,8] as follows:

$$D_t^\alpha t^\gamma = \Gamma(1 + \gamma) / \Gamma(1 + \gamma - \alpha) t^{\gamma - \alpha}, \gamma > 0, \quad (3)$$

$$D_t^\alpha [f(t)g(t)] = g(t)D_t^\alpha f(t) + f(t)D_t^\alpha g(t), \quad (4)$$

$$D_t^\alpha f[g(t)] = f'_g[g(t)]D_t^\alpha g(t) = D_g^\alpha f[g(t)][g'(t)]^\alpha, \quad (5)$$

which are the direct consequence of

$$D^\alpha X(t) = \Gamma(1 + \alpha)DX(t). \quad (6)$$

We present the main steps of the modified Kudryashov method as follows [1,3,4,9,10]:

For a given nonlinear FDEs for a function u of independent variables, $X = (x, y, z, \dots, t)$:

$$F(u, u_t, u_x, u_y, u_z, \dots, D_t^\alpha u, D_x^\alpha u, D_y^\alpha u, D_z^\alpha u, \dots) = 0, \tag{7}$$

where, $D_t^\alpha u, D_x^\alpha u, D_y^\alpha u$ and $D_z^\alpha u$ are the modified Riemann-Liouville derivatives of u with respect to t, x, y and z .

F is a polynomial in $u = u(x, y, z, , t)$ and its various partial derivatives, in which the nonlinear terms and highest order derivatives are involved.

Step 1: We investigate the traveling wave solutions of equation (7) of the form:

$$u(x, y, z, , t) = u(\xi), \tag{8}$$

$$\xi = \omega x^\beta / \Gamma(1 + \beta) + \varepsilon y^\gamma / \Gamma(1 + \gamma) + \sigma z^\delta / \Gamma(1 + \delta) + \dots + \lambda t^\alpha / \Gamma(1 + \alpha),$$

where $\omega, \varepsilon, \sigma$ and λ are arbitrary constants. Then equation (7) reduces to a nonlinear ordinary differential equation of the form:

$$G(u, u_\xi, u_{\xi\xi}, u_{\xi\xi\xi}, \dots) = 0. \tag{9}$$

Step 2: We suppose that the exact solutions of equation (9) can be obtained in the following form:

$$u(\xi) = \sum_{i=0}^N a_i Q(\xi)^i, \tag{10}$$

where $Q = 1/(1e^\xi)$ and the function Q is the solution of equation

$$Q_\xi = Q^2 - Q. \tag{11}$$

Step 3: According to the method, we assume that the solution of equation (9) can be expressed in the form:

$$u(\xi) = a_N Q^N + \dots. \tag{12}$$

Calculation of value N in formula (11) that is the pole order for the general solution of equation (9). In order to determine the value of N we balance the highest order nonlinear terms in equation (9) analogously as in the classical Kudryashov method. Supposing $u^l(\xi)u^{(s)}(\xi)$ and $[u^p(\xi)]^r$ are the highest order nonlinear terms of equation (9) and balancing the highest order nonlinear terms we have:

$$N = (s - rp)/(r - l - 1). \tag{13}$$

Step 4: Substituting equation (10) into equation (9) and equating the coefficients of Q^i to zero, we get a system of algebraic equations. By solving this system, we obtain the exact solutions of equation (9).

3. Applications

3.1. The Space-Time Fractional of Classical Drinfeld's Sokolov-Wilson System

We first apply the method to the space-time fractional of classical Drinfeld's Sokolov-Wilson system in the form:

$$\begin{aligned} \partial^\alpha u / \partial t^\alpha + pv(\partial^\beta v / \partial x^\beta) &= 0, \\ \partial^\alpha v / \partial t^\alpha + q(\partial^{3\beta} v / \partial x^{3\beta}) + ru(\partial^\beta v / \partial x^\beta) + sv(\partial^\beta u / \partial x^\beta) &= 0, \end{aligned} \tag{14}$$

where $0 < \alpha, \beta \leq 1, x > 0$ and u and v are the functions of (x, t) .

By considering the traveling wave transformation:

$$\begin{aligned} u(x, t) &= u(\xi), v(x, t) = v(\xi), \\ \xi &= \omega x^\beta / \Gamma(1 + \beta) - \lambda t^\alpha / \Gamma(1 + \alpha), \end{aligned} \tag{15}$$

where ω and λ are constants. Then equation (14) can be reduced to the following ordinary differential equations:

$$-\lambda u' + p\omega v v' = 0, \Rightarrow u' = (p\omega/\lambda) v v', \tag{16}$$

$$-\lambda v' + q\omega^3 v''' + r\omega u v' + s\omega v u' = 0, \tag{17}$$

where the prime denotes the derivative with respect to ξ . Integrating (16), we obtain:

$$u = (p\omega/2\lambda) v^2 + c_1, \tag{18}$$

where c_1 is an arbitrary integration constant.

Substituting u and u' into (17) yields:

$$q^3 v''' + p\omega^2((r + 2s)/2\lambda) v^2 v' + (r\omega c_1 - \lambda) v' = 0. \tag{19}$$

Integrating (19), we get:

$$q\omega^3 v'' + p\omega^2((r + 2s)/6\lambda) v^3 + (r\omega c_1 - \lambda) v = c_2, \tag{20}$$

where c_2 is an arbitrary integration constant.

Let $q\omega^3 = g, (p\omega^2(r + 2s)/6\lambda) = k, (r\omega c_1 - \lambda) = h, \Rightarrow$

$$g v'' + k v^3 + h v - c_2 = 0. \tag{21}$$

Balancing the linear term of the highest order with the highest order nonlinear term in equation (21), we compute:

$$N = 1. \tag{22}$$

Thus, we have

$$v(\xi) = a_0 + a_1Q, \tag{23}$$

and taking the derivatives of $v(\xi)$ with respect to ξ , we obtain:

$$v_\xi = a_1Q^2 - a_1Q, \tag{24}$$

$$v_{\xi\xi} = 2a_1Q^3 - 3a_1Q^2 + a_1Q. \tag{25}$$

Substituting equation (23) and equation (25) into equation (21) and collecting the coefficient of each power of Q^i setting each of coefficient to zero, solving the resulting system of algebraic equations we obtain the following solutions:

$$a_1 = \sqrt{(2g/k)} i, \quad a_0 = -\sqrt{(g/2k)} i, \quad \Rightarrow \quad a_1 = -2a_0. \tag{26}$$

Inserting equation (26) into equation (23) we obtain the following solutions of equation (21)

$$v_1 = a_0[1 - 2/(1 + e^\xi)], \tag{27}$$

so,the travelling wave solution is given by:

$$u_1 = A[a_0(1 - 2/(1 + e^\xi))]^2 + c_1, \tag{28}$$

where $p\omega/2\lambda = A$.

$$v_2 = a_0[1 - 2/(1 - e^\xi)], \tag{29}$$

so,the travelling wave solution is given by:

$$u_2 = A[a_0(1 - 2/(1 - e^\xi))]^2 + c_1, \tag{30}$$

thus, two solutions have been obtained for the system (14).

3.2. The Fractional (2+1)-Dimensional Davey-Stewartson System

We, second apply consider the fractional (2+1)- Dimensional Davey-Stewartson System defines as:

$$\begin{aligned} i\partial^\alpha u/\partial t^\alpha + \partial^{2\beta} u/\partial x^{2\beta} - \partial^{2\gamma} u/\partial y^{2\gamma} - 2|u|^2u - 2uv &= 0, \\ \partial^{2\beta} v/\partial x^{2\beta} + \partial^{2\gamma} v/\partial y^{2\gamma} + 2\partial^{2\beta} (|u|^2)/\partial x^{2\beta} &= 0, \end{aligned} \tag{31}$$

where $0 < \alpha, \beta, \gamma \leq 1, x, y > 0$, and u and v are the functions of (x, y, t) . By considering the traveling wave transformation:

$$\begin{aligned} u(x, y, t) &= e^{i\theta} u(\xi), \quad v(x, y, t) = v(\xi), \\ \theta &= (px^\beta/\Gamma(1 + \beta) + qy^\gamma/\Gamma(1 + \gamma) + ct^\alpha/\Gamma(1 + \alpha)) + r, \\ \xi &= (\omega x^\beta/\Gamma(1 + \beta) + \varepsilon y^\gamma/\Gamma(1 + \gamma) + \lambda t^\alpha/\Gamma(1 + \alpha)) + \sigma, \end{aligned} \tag{32}$$

where $p, q, c, \omega, \varepsilon$ and λ are constants. Then equation (31) can be reduced to the following ordinary differential equations:

$$(q^2 - p^2 - c)u + (\omega^2 - \varepsilon^2)u'' - 2u^3 - 2uv = 0, \quad (33)$$

$$(\omega^2 + \varepsilon^2)v'' + 2(u^2)'' = 0. \quad (34)$$

Integrating (34) in the system and neglecting constants of integration, we have found:

$$v = -2u^2/(\omega^2 + \varepsilon^2). \quad (35)$$

Substituting (35) into (33) of the system and integrating we find:

$$(q^2 - p^2 - c)u + (\omega^2 - \varepsilon^2)u'' - 2((\omega^2 + \varepsilon^2 - 2)/(\omega^2 + \varepsilon^2))u^3 = 0$$

. Let $(\omega^2 - \varepsilon^2) = k$, $((\omega^2 + \varepsilon^2 - 2)/(\omega^2 + \varepsilon^2)) = h$, $(q^2 - p^2 - c) = s$, \Rightarrow

$$su + ku'' - 2hu^3 = 0. \quad (36)$$

Balancing the order of u^3 with the order of u'' in equation (36), we find $N = 1$, so, the solution takes the form:

$$u(\xi) = a_0 + a_1Q. \quad (37)$$

Inserting equation (37) into equation (36) and making use of equation (11) and collecting the coefficient of each power of setting each of coefficient to zero, solving the resulting system of algebraic equations we obtain the following solutions:

$$a_1 = \sqrt{k/h}, \quad a_0 = -(1/2)\sqrt{k/h}, \quad \Rightarrow, \quad a_1 = -2a_0, \quad (38)$$

$$u_1(\xi) = a_0[1 - 2/(1 + e^\xi)], \quad (39)$$

so, the travelling wave solution is given by:

$$v_1(\xi) = A(a_0[1 - 2/(1 + e^\xi)])^2, \quad (40)$$

where $(-2/(\omega^2 + \varepsilon^2)) = A$,

$$u_2(\xi) = a_0[1 - 2/(1 - e^\xi)], \quad (41)$$

so, the travelling wave solution is given by

$$v_2(\xi) = A(a_0[1 - 2/(1 - e^\xi)])^2. \quad (42)$$

Thus, two solutions have been obtained for the system (31).

3.3. The Fractional Generalized Hirota-Satsuma Coupled KdV System

We next consider the fractional generalized Hirota-Satsuma coupled KdV system defines as:

$$\partial^\alpha u / \partial t^\alpha = (1/4)\partial^{3\beta} u / \partial x^{3\beta} + 3u\partial^\beta u / \partial x^\beta + 3\partial^\beta (w - v^2) / \partial x^\beta, \tag{43}$$

$$\partial^\alpha v / \partial t^\alpha = -(1/2)\partial^{3\beta} v / \partial x^{3\beta} - 3u\partial^\beta v / \partial x^\beta, \tag{44}$$

$$\partial^\alpha w / \partial t^\alpha = -(1/2)\partial^{3\beta} w / \partial x^{3\beta} - 3u\partial^\beta w / \partial x^\beta, \tag{45}$$

where $0 < \alpha, \beta \leq 1, x > 0$, and u, v and w are the function of (x, t) .

When $w=0$, (43)-(45) reduce to be the well-known Hirota-Satsuma coupled KdV system. By considering the traveling wave transformation:

$$\begin{aligned} u(x, t) &= u(\xi), \quad v(x, t) = v(\xi), \quad w(x, t) = w(\xi), \\ \xi &= kx^\beta / \Gamma(1 + \beta) - \lambda t^\alpha / \Gamma(1 + \alpha), \end{aligned} \tag{46}$$

where k and λ are constants. Then Eq' s. (43)- (45) can be reduced to the following ordinary differential equations:

$$-\lambda u' = (1/4)k^3 u''' + 3kuu' + 3k(w - v^2)', \tag{47}$$

$$-\lambda v' = -(1/2)k^3 v''' - 3kvv', \tag{48}$$

$$-\lambda w' = -(1/2)k^3 w''' - 3kwv'. \tag{49}$$

Integrating (47) we get

$$-\lambda u = (1/4)k^3 u'' + (3/2)ku^2 + 3k(w - v^2), \tag{50}$$

from equation (48) and equation (49) we get

$$(1/2)k^3 v''' = (\lambda - 3kv)v', \tag{51}$$

$$(1/2)k^3 w''' = (\lambda - 3kw)w'. \tag{52}$$

By divided equation (51) on (52) we get

$$v''' / w''' = v' / w', \quad \Rightarrow w' / w''' = v' / v''', \quad \Rightarrow w' = A_0 v'. \tag{53}$$

Integrating (53) we get

$$w = A_0 v + B_0. \tag{54}$$

$$\text{Let } u = Av^2 + Bv + C, \tag{55}$$

where $A_0, B_0, A, B,$ and C are constants.

From equation (55), we have

$$u' = 2Avv' + Bv' = (2Av + B)v', \quad u'' = (2Av + B)v'' + 2A(v')^2,$$

multiply u'' by k^3 We get

$$k^3u'' = (2Av + B)k^3v'' + 2Ak^3(v')^2. \quad (56)$$

From equation (50):

$$k^3u'' = -6ku^2 - 4\lambda u + 12k(v^2 - w). \quad (57)$$

Substituting (54)and (55) into (57) we get

$$k^3u'' = -6k[A^2v^4 + 2ABv^3 + (B^2 + 2AC)v^2 + 2BCv + C^2] \\ - 4\lambda(Av^2 + Bv + C) + 12kv^2 - 12kA_0v - 12kB_0, \quad (58)$$

\Rightarrow

$$k^3u'' = -6kA^2v^4 - 12kABv^3 + (-6kB^2 - 12kAC - 4\lambda A + 12k)v^2 \\ + (-12kBC - 4\lambda B - 12kA_0)v + (-6kC^2 - 4\lambda C - 12kB_0). \quad (59)$$

Substituting (55) into (51)we get:

$$k^3v''' = -6kAv^2v' - 6kBvv' + 2(\lambda - 3kC)v'. \quad (60)$$

Integrating (59) we get

$$k^3v'' = -2kAv^3 - 3kBv^2 + 2(\lambda - 3kC)v + c_1, \quad (61)$$

where c_1 is an integration constant.

Integrating (60) once again and multiply by 2 we have:

$$k^3(v')^2 = -kAv^4 - 2kBv^3 + 2(\lambda - 3kC)v^2 + 2c_1v + c_2, \quad (62)$$

where c_2 is an integration constant.

Substituting (58) and (61) onto (56) we get

$$(2Av + B)k^3v'' = -4kA^2v^4 - 8kABv^3 + (-8\lambda A - 6kB^2 + 12k)v^2 \\ + (-12kBC - 4\lambda B - 12kA_0 - 4Ac_1)v + (-2Ac_2 - 6kC^2 - 4\lambda C - 12kB_0), \quad (63)$$

let $-4kA^2 = k_0$, $-8kAB = k_1$, $(-8\lambda A - 6kB^2 + 12k) = k_2$,
 $(-4Ac_1 - 12kBC - 4\lambda B - 12kA_0) = k_3$, $(-2Ac_2 - 6kC^2 - 4\lambda C - 12kB_0) = k_4$,
 $2Ak^3 = k_5$, $Bk^3 = k_6$, \Rightarrow

$$(k_5v + k_6)v'' = k_0v^4 + k_1v^3 + k_2v^2 + k_3v + k_4. \tag{64}$$

Balacing the order of v^4 with the order of vv'' in equation (62),gives: $N = 1$.

So, the solution takes the form:

$$v = a_0 + a_1Q. \tag{65}$$

Inserting equation (63) into equation (62) and making use of equation (11), we get:

$$\begin{aligned} & k_5[a_0a_1Q + (a_1^2 - 3a_0a_1)Q^2 + (2a_0a_1 - 3a_1^2)Q^3 + 2a_1^2Q^4] \\ & + k_6[2a_1Q^3 - 3a_1Q^2 + a_1Q] = k_0[a_0^4 + 4a_0^3a_1Q + 6a_0^2a_1^2Q^2 + 4a_0a_1^3Q^3 + a_1^4Q^4] \\ & \quad + k_1[a_0^3 + 3a_0^2a_1Q + 3a_0a_1^2Q^2 + a_1^3Q^3] \\ & \quad + k_2[a_0^2 + 2a_0a_1Q + a_1^2Q^2] + k_3[a_0 + a_1Q] + k_4. \end{aligned} \tag{66}$$

We solve the obtained system of algebraic equations give the following

$$a_1 = \sqrt{2k_5/k_0}, \quad a_0 = (2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5), \tag{67}$$

$$v_1 = [(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5)] + (\sqrt{(2k_5/k_0)})[1/(1 + e^\xi)], \tag{68}$$

so,the travelling wave solution is given by

$$w_1 = A_0[(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + (\sqrt{(2k_5/k_0)})[1/(1 + e^\xi)]] + B_0, \tag{69}$$

so,the travelling wave solution is given by

$$\begin{aligned} u_1 &= A[(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + (\sqrt{(2k_5/k_0)})[1/(1 + e^\xi)]]^2 \\ &+ B[(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + \sqrt{(2k_5/k_0)})[1/(1 + e^\xi)]] + C. \end{aligned} \tag{70}$$

$$v_2 = (2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + (\sqrt{(2k_5/k_0)})[1/(1 - e^\xi)], \tag{71}$$

so,the travelling wave solution is given by

$$w_2 = A_0[(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + (\sqrt{(2k_5/k_0)})[1/(1 - e^\xi)]] + B_0, \tag{72}$$

so,the travelling wave solution is given by

$$\begin{aligned} u_2 &= A[(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + (\sqrt{(2k_5/k_0)})[1/(1 - e^\xi)]]^2 \\ &+ B[(2k_0k_6 - 2k_1k_5 - 3\sqrt{2k_5}\sqrt{k_0k_5})/(6k_0k_5) + (\sqrt{(2k_5/k_0)})[1/(1 - e^\xi)]] + C. \end{aligned} \tag{73}$$

4. Conclusion

In this work, we find the analytical solutions of the space-time fractional of classical Drinfeld's Sokolov-Wilson system, the fractional (2+1)-dimensional Davey-Stewartson system and the fractional generalized Hirota- Satsuma coupled KdV system, by using the modified Kudryashov method. Also, we use Jumarie's modified Riemann-Liouville derivation formulas and properties to reduce the fractional order differential equations into Riccati type equations. It can be seen clearly that the method is suitable for solving Riccati equations since it is also based on the homogenous balance principle. The obtained solutions are rational function solutions whose structures are in the traveling wave form. This method is effective, useful and easily computable with the help of computer algebra system Mathematica. Therefore, it can be applied to other nonlinear systems.

References

- [1] Aghdam E. A., Kabir M. M., Khajeh A., A. Y. (2011): Modified Kudryashov method for finding exact solitary wave solutions of higher order nonlinear equations, *Mathematical Methods in the Applied Sciences*, 34, pp. 244-246
- [2] Alzaidy J. F., (2013): The fractional sub-equation method and exact Analytical Solutions for some nonlinear fractional PDEs. *British Journal of Mathematics Computer Science*, 3, pp. 153-163.
- [3] Cox S. J., Hutzler S., Murphy J., Phelan R., Verbist G., Weaire D. (2002): Applications and Generalizations of the Foam Drainage Equation. *Mathematical, Physical and Engineering Sciences*, 456, pp 2441-2464.
- [4] Ege S. M., Misirli E. (2012): The modified Kudryashov method for solving some evolution equations, *AIP Conference Proceedings*, 1470, pp. 244-246.
- [5] Feng Q., Meng F. (2013): A New fractional subequation method and its applications for spacetime Fractional partial differential equations, *Journal of Applied Mathematics*, 2013 doi:/10.1155/2013/481729.
- [6] Guoa S., Lia Y., Meia L., Sunb Y. (2012): The improved fractional sub-equation method and its applications to the space-time fractional differential equations in fluid mechanics, *Physics Letters A*, 376, pp. 407-411.

- [7] Jumarie G. (2006): Modified Riemann-Liouville derivative and fractional Taylor series of nondifferentiable functions further results, *Computers and Mathematics with Applications*, 51, pp.1367-1376.
- [8] Jumarie G. (2007): Fractional partial differential equations and modified Riemann-Liouville derivative new methods for solution, *Journal of Applied Mathematics and Computation*, 24, pp. 31-48.
- [9] Kabir M. M. (2011): Modified Kudryashov method for generalized forms of the nonlinear heat conduction equation, *International Journal of Physical Sciences*, 6, pp. 6061-6064.
- [10] Kudryashov N. A. (2012): One method for finding exact solutions of nonlinear differential equations, *Communications in Nonlinear Science and Numerical Simulation*, 17, pp. 2248-2253.
- [11] Lu B. (2012): The first integral method for some time fractional differential equations, *Journal of Mathematical Analysis and Applications*, 395, pp. 684-693.
- [12] Meng F. (2013): A new approach for solving fractional partial differential equations, *Journal of Applied Mathematics* , 2013, doi:10.1155/2013/256823.
- [13] Podlubny I. (1999): *Fractional differential equations*, *Mathematics in Science and Engineering*, vol.198, Slovak Republic.
- [14] Wen C., Zheng B. (2013): Exact solutions for fractional partial differential equations by a new fractional sub-equation method, *Advances in Difference Equations*, 199, doi:10.1186/1687- 1847.
- [15] Younis M. (2013): The first integral method for time-space fractional differential equations, *Journal of Advanced Physics*, 2, pp. 220-223. unction method for solving fractional partial differential equations, *Scientific World Journal*, 2013, doi:10.1155/2013/465723.
- [16] Zheng B. (2013): Exp-function method for solving fractional partial differential equation, *Scientific World Journal*, 2013, doi:10.1155/2013/465723.

